fAPAR TWS SWE ET Runoff
8
0.025 — £ 0.10 0.07 4
—~ ’]6_
L 0.0204 E 7- © 0.08- 0.06 -
w = 44 S
0 Ll £ 0.06- 0.05+
= 0.0151 0 6- =
r E 12 W 0.04 - 0.04- d
] %) ]
0010 T T T 10 T T T 5- T T T 2 002- T T ! 003 T T T
4
1.0' - - =l -~ - T - - T - - = - -
» H
T 081 - : 1 . H
(@]
e LY
®
® 061 - : 1 :
$ ¥ !
2.0 - ] . ‘ ]
x 151 - : 1 :
@)
O q0{ =w = 1 - - . 1 - " 1 m m H
] ‘ | [ ]
0.5 - : an . :
Monthly MSC 1AV Monthly MSC 1AV Monthly MSC 1AV Monthly MSC 1AV Monthly MSC 1AV

B3 Spatial split BE Spatio—temporal split






